NCERT EXEMPLAR 400 QUESTIONS / SET -3

41. In the above chemical reactions, Which of the following is a type of decomposition
reaction.

3Werd TEA S GTAThAT3IT H, 1T ad #F J il Ueh YR I 3Te Tfafshar g
[NCERT Exemplar]

1. Na(s) + S(s) — Fuse Na2S(s)

2. TiCl4 (1) + Mg(s) — Ti(s) + MgCI2 (s)

3. CaO(s) + SiO2 (s) — CaSiO3 (s)

4. H202 (1) - U V H20(1) + 02 (g)

2Na(s) + S(s) — (Fuse) — Na2S(s) - Combination reaction.

TiCI4 (1) + Mg(s) — Ti(s) + 2MgCI2 (s) - displacement reactions,
Cao(s) + SIO2(s) + CaSIO3(s)- Displacement reactions

2H202 (I) — UV — 2H20(I) + O2 (g)- decomposition reaction.

42. Which among the following changes is endothermic in nature?

frfaf@d aRadal 7 & #ia ypfa & vSrufdis §? [NCERT Exemplar]

1. Decomposition of ferrous sulfate/SXH Tethe T ITTECH

2. Dilution of sulphuric acid/ﬂ?q’{ﬁ? UTAE &7 Idell arell

3. Dissolution of sodium hydroxide in water/dTsil ¥ TZTH ETSSIFASS I [TeA
4. Reaction of Strong Acid and Water/ ST d tfas 3R are i gfafear

e An exothermic process is one that generates heat as a byproduct. A portion of this
heat is transferred to the surrounding environment.

e Heat must be supplied to the system from the surrounding environment in order for an
endothermic process to occur.

e A thermoneutral process is one that does not require heat from the environment and
does not emit energy into the environment.

o UF UFAIATHF UiHAT a8 ¥ S U I9CUIE & & F a1 Scveet el ¥ 5 ATt
T Teh TREHT 3THYTH o TATaR0T & TATHATRA fohdT SATaT 8|

o TSIYUTHS GishaT & glel oh foIT 3METE & aTcTa)or & FaecH i ar#lt i 3mqfe Hr
STTeiY =R |

o U THATIg UiHaT a8 & oy qafaRor & arsdf & 3maeashar 781 g & 3R g
JATaROT H Fail &l Scqote Ael AT g

Exothermic reactions

(b) Dilution of sulphuric acid

(c) Dissolution of sodium hydroxide in water
Endothermic reaction

a) Decomposition of ferrous sulphate

(d) Dissolution of ammonium chloride in water

43. Which of the following statements about the given reaction are correct? /&1 LERIGIED]

& TR H AT & & it TT HUT Tel g2 [NCERT Exemplar]
3Fe(s) + 4H20(g) — Fe304 (s) + 4H2 (g)
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1. Iron metal is getting oxidised/ciTg T ard JTFAOT BT T &
2. Water is getting reduced/dTsAT el ET gl %’
3. Water is acting as a reducing agent/dTeil Ueh shal shiel dTel Usic oh & H hIH Y 36T &

4. Water is acting as an oxidising agent/dTeil Ueh JTFHOT TSl o &Y H 1 FLIET & (a)
(1), (i1) and (iii)
(b) (iii) and (iv)
(c) (i), (ii) and (iv)
(d) (i1) and (iv)
e In this reaction, oxygen reacts with water to form oxidised water. Because oxygen is
being removed from water, the water’s oxygen content is being reduced. Water is a
source of oxygen and an oxidising agent, both of which are beneficial.

o 3 gfafsar @, 3T arel & |1 3ifereiiehd dTell Seilel & forw wffshar atar
g | FITR 3TardISTeT &l UTeil T §eTAT ST IGT &, UTel) bl 3fTerdToted AT &H g &
| arelY 3iTFIeTe 3R U 3TFERT USiT I U A &, S &leil BIIeHS &

44. Which of the following are exothermic processes?/faia=Ifelf&d & & i AT TFaraFS
gfshaTu 82 [NCERT Exemplar]

(i) The reaction of water with quick lime/caiRd ﬂff o T uTeAT T gfafhar

(ii) Dilution of an acid/Ueh TTHS T TcTell ITT

(iii) Evaporation of water/dTail T GTSYIhI0T

(iv) Sublimation of camphor (crystals)/&q (forEeer) &1 3Equrde

(a) (1) and (i1)
(b) (i1) and (iii)
(c) (1) and (iv)
(d) (ii1) and (iv)
e Exothermic processes result in the release of enormous amounts of heat — as a result
when water reacts with quick lime and when an acid reacts with water, heat energy is
released.

o UrEIATHS GTHATIHT & TROTHETET SR AT H 1T hT RS glein @ -
IRUTAETET S el caRd Tt & a1 gfaforar wdr & 3R 59 v vfas uelt &
arer Sfafehar sear &, ar a1t Soft STy & S B

45. The following reaction is an example of a: /eI ITATShAT Ueh T Teh 3GTET o

[NCERT Exemplar]
4NH3 (g) + 502 (g) — 4NO(g) + 6H20(g)

(i) displacement reaction/faEaTaeT wfafehar
(ii) combination reaction/qarsleT IfdfohaT
(iii) redox reaction/ BT YT fhaT

(iv) neutralisation reaction/3GT& 0T JTfATHAT
(a) (1) and (iv)
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(b) (ii) and (ii1)
(c) (1) and (i11)
(d) (iii) and (iv)
e The reaction described here is a combination of displacement and redox reactions.
e The displacement reaction occurs when oxygen displaces hydrogen in ammonia,
resulting in a displacement reaction.
e A redox reaction occurs when nitrogen is oxidised and oxygen is reduced, resulting in
the reduction of nitrogen and the reduction of oxygen.

o gl afoTa ufaferar faeuras iR Yo ufaferansit &1 te Fala= B

o TaTaTas gfafshar da gidt § STe 3iTeraetet 3T AT & grsgieie & fawanid
AT g, Fordeh IRUTATIwT favardeT gfafhar giar g

o T EiFY UfAfehar aa 81dT § Sa ATSeIated JiTFHehoT 8T § 3R 3Tt e
&Y ST &, Toaes IRUHETaST Asclele # et 3R 3iterdiere i et gl &1

46. Solid calcium oxide reacts vigorously with water to form calcium hydroxide accompanied
by the liberation of heat. This process is called slaking of lime. Calcium hydroxide dissolves
in water to form its solution called lime water.

O hieRIIH 3NTFATSS ITHT T FTrd & HTY HRTH BISZIFATSS TeAlel o [T UTeil oh
Ty T A ITAfehar aar &1 58 UTehaT T ATSH T T TehaT shgl ST &1 S~

BISSIFATSS UTeil & Tl STl & clich S&ehT TaeleT Tel ol UTail &l
[NCERT Exemplar]
Which among the following is true about slaking of lime and the solution

formed?/fAF=1TATEd #H & et AT & Feifehar R faeraeT S IR A w7E &2

(1) It is an endothermic reaction/dg Teh wsrafAs ufafmar g

(i1) It is an exothermic reaction/dg Teh vrarafis gfafear g

(iii) The pH of the resulting solution will be more than seven/IRUTTHT THTYTST T U AT
a 31fe grem

(iv) The pH of the resulting solution will be less than seven/dRUTTHT AT T T AT
q SHH 9w

(a) (i) and (ii)

(b) (i1) and (iii)

(c) (1) and (iv)

(d) (ii1) and (iv)

In the presence of vigorous water reaction, solid calcium oxide transforms into calcium
hydroxide, which is accompanied by the production of heat. This occurrence demonstrates

that the reaction is exothermic. It is expected that the pH of the solution will be greater than 7
because metal oxides and hydroxides are alkaline.

SIRGR STl UTATshaT &1 3UTEAfa &, 31 FierRed 3Taarss Hicr I gBsiedss H ded
ST &, Foraeh are a7t &1 3cdrest giem €1 g g gl § fob fafsrar Famard &1 @
3##TE &1 STl § Toh el &1 pH 7 & 378k glaTT Fifeh &1 3ieFATSS 3R gTSgierdTss
TRF I &l
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47. Which among the following is(are) double displacement reaction(s)?

AT 7 & Si-8 gfa-Taearaet 31fAfshar &/82 [NCERT Exemplar]
(i) Pb + CuCl2 — PbCI2 + Cu

(i1) Na2 SO4 + BaCl2 — BaS0O4 + 2NaCl

(i) C+ 02 — CO2

(iv) CH4 +202 — CO2 + 2H20

(a) (1) and (iv)

(b) (ii) only

(c) (1) and (ii)

(d) (ii1) and (iv)

Sodium and barium are both displaced from their respective salts in this reaction, which is
referred to as a double displacement reaction.

= AR & AT 3R IRTH a1 39a-319a wrquit § farenfa g sma €, o gfa-
faTemas 31fAfhar e Sar gl

48. Which among the following statement(s) is (are) true?/fAFIfolf@a & & i a1 Fu=T

T 87 [NCERT Exemplar]
Exposure of silver chloride to sunlight for a long duration turns grey due to
(i) the formation of silver by decomposition of silver chloride/f&eaX FeRISS & JUTCT &

fcay &1 AT grar g

(ii) sublimation of silver chloride/flear FRTSS FTI FEIUTA

(iii) decomposition of chlorine gas from silver chloride/fedR FeRTSS A FlloT 31T T
3Ygcsd

(iv) oxidation of silver chloride/fieax FARTSS I HTFEIHIOT

(a) (i) only

(b) (1) and (iii)

(c) (i1) and (iii)

(d) (iv) only

Silver halides, particularly silver chloride, decompose in the presence of sunlight, resulting in
the formation of silver metal and a halogen gas (silver) (chlorine or bromine gas). Because of
the formation of silver metal, the colour of silver chloride changes from white to grey. As a
result, option A is the correct choice.

e Berss, faY &7 & Reat Fellirss, I & Farer T 3uiedia # faufed g o &,
forees aRuTaEasT ffeay a1 3R geitsret 3 (Reaw) (FeRier a1 stHs 34 ol 1
f&eaX 41 & Fetel o HROT, e’ FENTSS &I 3T The & I H el ST g |
gRUTHEawY, [dhed A Tal [Ahea Bl

49. Barium chloride on reacting with ammonium sulphate forms barium sulphate and
ammonium chloride. Which of the following correctly represents the type of the reaction
involved?
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IRTH FARTSS IJATAITH Tothe o AT ITATshdT Hich IRIH Tothe 3R AT

FARTSS TATT ¢ | AATATET F & i I ufaforar & TR 1 TEY &1 F AT g2
[NCERT Exemplar]
(i) Displacement reaction/faETasT wicfshar

(i1) Precipitation reaction/3Td &rqoT gfafshar
(iii) Combination reaction/FATeTeT YT TshaT

(iv) Double displacement reaction/Glgr faeaTasT wfafehar

(a) (i) only

(b) (i1) only

(c) (iv) only

(d) (i1) and (iv)

The elements ammonium and barium are being displaced from their respective salts,
according to the data. As a result, we have a double displacement reaction. Because of the
formation of a white precipitate of barium sulphate, this reaction is also referred to as a
precipitation reaction.

STT % AR, AT 3R AR dea 3r9e-379e eraot & faeanfa g @ €
IRUTHATaRY, §AR 9TH Teh GIgd! [ATATIT TfAfshar &1 SRIA Tothe & Teh Tthe, 31d8iT
& TATOT & SHRoT, 37 Siafehar 1 3raeiqur giafsar i e Jrar gl

50. Electrolysis of water is a decomposition reaction. The mole ratio of hydrogen and oxygen
gases liberated during electrolysis of water is

STe T faeg el 3TTEesT Ueh HTECe 3TRTHAT ¥ STef & faegd ITees & aRieT Herd glel

aTell gT83totel X 3HTereiTsteT 3T o1 HIeT 37Tl § [NCERT Exemplar]

(a) 1:1

(b) 2:1

(c)4:1

(d)1:2

Water contains two moles of hydrogen and one mole of water in a single mole. Because of
this, the mole ratio of hydrogen to oxygen is 2:1.

UToiY 3 &1 Aol §183ToTel 3R Teh Aol UTeil 81T ¢ | 3 dolg H, g188IeleT 3R fTardetet ol
AV 37T 2:1 YT §

51. One of the following is an exothermic reaction.

fArAfafad &7 & e FArgydy 31fRTHAT &1 [NCERT Exemplar]

(a) Electrolysis of water /STel <hl Taqu 9gcsd

(b) Conversion of limestone into quicklime /TAT T2 T ECEGIELE: R IR
(c) Process of respiration /2adeT ST IfehaT

(d) Process of photosynthesis/9eTeT TLeYUT Sl YTshdT

As heat energy is emitted during respiration, it is an exothermic reaction that keeps our body
temperature stable.
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Hfeh aH & GRTeT FSAT Fail SchToid BIdl &, T6 Teh SCATRTH ITafshar § S gAN R
& dTIATT &I R W@ g

52. The chemical equations are balanced to satisfy one of the following laws in chemical
reactions. This law is known as

T SRR o e R 3 & Rl v P T e &
T feieh FHIROT T Hlfeld ThaT SITelT €1 59 f1# & [NCERT 3aTg0T] & &9 H
SIAT ST &

[NCERT Exemplar]

(a) Law of conservation of momentum /Hd3T o TIE&TUT T AT

(b) Law of conservation of mass /Gl o TI&TUT T T

(c) Law of conservation of motion /3Tfct TIETOT T fAT&

(d) Law of conservation of magnetism/?:l;m o T&TOT & foags

e When the mass of atoms of different elements in the reactants side equals the mass of
atoms in the products side, the equations are balanced.

o oI JifAFRE g&T H fAfPeeT dTedl & IRATILI T GeIATH 3cuTe TaT H IATI3 &
e HTeT oh SIS Il 8, ol 10T Hffolcd 81 & |

53. One of the following is an endothermic reaction. This is:

frAfafaa & 8 v Srufds JAfRfrar g a5 g
[NCERT Exemplar]
(a) Combination of carbon and oxygen to form carbon monoxide /@TST 3R JTergiTsTeT Sl

AT FlaeT AAHTFHSS ST &

(b) Combination of nitrogen and oxygen to form nitrogen monoxide /sTT8¢rolel 3R
STFHISTA T IS ATSEIoTeT Al FASS Tl §

(c) Combination of glucose and oxygen to form carbon dioxide and water/&Toel STSHTFATSS
AR 91t SeATeT o Tl Tefehlot 3R 3iTereitatet Sl HAToTe

(d) Combination of zinc and hydrochloric acid to form zinc chloride and hydrogen/fSie 31X
ETSSIFalieh UTHS ol TAToTeT Toleh FeRTSS 3R T83TeTe Selldl &

Nitrogen monoxide is formed when nitrogen and oxygen are heated to extremely high
temperatures in an endothermic reaction.

SATSeToT AIAIFHISS dd SeIdT § oId dATSeloled 3R JTFHIeTeT I Vs IFTRTHAT 7
37t 3T ATIHAT 9T I fhar ST g1

54. An acid that can decolorise purple coloured potassium permanganate solution is /Teh

TR ST Jared To7 & IR RIIH qreieie & Ol Y WIETeT Y FohdT § 98 &[NCERT

Exemplar]

(a) Sulphuric acid /HFCF’:I"\ﬁH? Tfas
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(b) Citric acid /T8¢ TS
(c) Carbonic acid CACIGERYTEES
(d) Hydrochloric acid@%@ﬁﬂ’lﬁﬁ? s

When purple-colored potassium permanganate reacts with citric acid, the colour changes
from purple to colourless.

ST SITeAT 39T T G e RATAe asfes viis & arer ufafshar sear g, ar P &
T 3 TereT ST R

Q.55. The opening and closing of the stomatal pore depends upon ?

11 & T GerolT 3R o7 g1 fohgr OX T8 &l §2[NCERT Exemplar]

(a) oxygen/mﬁl?-f

(b) temperature/dTIHTeT

(c) water in guard cells/aTS IR & greir

(d) concentration of CO2 in stomata/T8T & CO2 T FrgdT

Q.56. The inner lining of stomach is protected by one of the following from hydrochloric
acid. Choose the correct one. [NCERT Exemplar]

(a) Pepsin/aTcqeT

(b) Mucus/deldTH

(c) Salivary amylase/elIX THTSelol

(d) Bile/fOa

Q.57. Rings of cartilage present in the throat ensure that /3Tel 7 mEI:c‘( POl o Gool Tg
ﬁﬁ%ﬁ %I & Toh:- [NCERT Exemplar]

(a) air is filtered/gaT @I fheeX fohaT STAT &

(b) air is at room temperature/gdl HHAY & dAIATT W g

(c) air passage does not collapse/dTg AT SgAT ABl &

(d) air is free of microbes/gdTl Q’I?TI'U:_@-]T a 313’?[%

Q.58. The image shows oxygenated and de-oxygenated blood in the human heart

Ig T ATl ge g H Hierdiolet ebdl 3R HTeFeioleT gl Terc T G2Tel §. [NCERT
Exemplar]

From upper body N
0/ l;?.-’ i

111 ——2—=To lungs
Right atrium To Iungs(_ﬁ’“ } =3 g
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gl
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1
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From lower body

( oxygenated blood
O De-oxygenated blood
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What is the direction of deoxygenated blood from right ventricle of the heart?/g&d o &I
gfcenel & iTerdete Ifed Yo T Tl &3 §2 [NCERT Exemplar]

(a) towards the lungs./ﬁﬂh?,sf $r 31X

(b) towards the left atrium of heart./g&T & STT 31TTelg, T 31|

(c) towards the upper body./ZUT QI T 31X

(d) towards the lower body./ﬁilﬁ R FT 3R

Q.59. Which of the following organisms absorbs nutrition with haustoria?

fafaf@d & & sl a1 Sira gTeIRAT & Arer 9ivor a2 T AT §2[NCERT Exemplar]
(a) A carnivore/Teh HTHTERT

(b) A herbivore/Tdh QTRTIT

(c) A parasite/Teh UISidl

(d) A saprophyte/Ucsh ﬂﬁGﬁﬁT

Q.60. The process by which Amoeba obtains food is called /ag JfehaT fora CAaRT 3HET
HISTeT YTCd Il %3’@ $ad %[NCERT Exemplar]

(a) phagocytosis/BRIATSCI AT

(b) assimilation/3TcHATT

(¢) diffusion/JHN

(d) absorption/31d QT




